fastmount.com

STRATLOCK SL RANGE

SL-SFA & SL-SFA-FR INSTALLATION GUIDE STRATLOCK

SL-SFA Stratlock® Range - Screw Fix
SL-SFA-FR Stratlock® Range - Screw Fix - Fire Rated

| USE WITH: | INSTALL WITH:

SL-M10, SL-M18, SL-M18-FR CP-01ST

2 X #8 panhead screws
(20mm, timber frame)
OR

#8 tek screws (20mm,
aluminium/steel frame)
#5 screws

INSTALLATION STEPS Screw-fix method - follow same steps for fire-rated Stratlock clips
Note: Refer into steps 6 - 11 on SL-FA Adhesive Fix Installation Guide for adhesive application.

0 o Screw into position o Drill out mark created by

using 2 x #8 pan head CP-01ST with 3mm drill bit

20mm screws
(timber) OR Press CP-01ST centrepoint
Position SL-SFA

#8 tek 20mm screws into SL-SFA, press panel
along frame (steel/alum.) onto point
e Install SL-M18 with e Engage panel to first Adjust panel to find Once panel is in correct location,
1 x #8 screw through centre click of SL-M18 into correct position engage second click by
or 3 x #5 screws through base SL-SFA pressing panel into final position.

_—— —"_. i\

(]
@_

{

4 Subject to change without notice.
i“_"( PROUDLY DESIGNED IN NEW ZEALAND Version: SL-SFA/FR - 10/23. Copyright © Fastmount Ltd. IFASTMOUNT



